VARIANTA 3

2 2
l. @) A+B:(1 J; b) x=+1;¢) 3;d) —/2; €) x = 3;
f) 11+ 33+ 55+ 77+99=275.
Il. 1. a) {2,3}; b) A-C={1}=B-C; c) 3 fungii; d) n[1{12};
e) 111, 112, 121, 211, 122, 212, 221, 222.

2. a) 80; bAABC este dreptunghic in A, h3— [416 = 2;;0; C) 302[16 = 240;

d)3—4=17; e) BD =ﬂ).
2

.

aP=3=1=1.

1°V3 _ 43
b = =—,
) A 2 4
1+c® =ip® c=2-ip c=2-ip i _5_C_3
1+c+ip=3 1+(4—4ip+ip2):ip2 4ip=5 PER Ty
3
_4_3
dya =2=2
) A >3
2c+ip=3 6-3J2 .
e =Cc,=C> =>Cc=——;I :3\/5—3.
)C =C, {ip=C\/§ 5 p
f—mﬁy
L2 _27-18J2
DA= "4
9) A <A <A.
V.

a)1:1DA; pt n:Z,%DA;ptn:S,%DA,pt n:4£DA.
b) 1 1.3

—¢2,—¢—DnDN*,cﬁcillenDN*.
n n 2 n
c¢) Calcul direct.
d) 1 DA:>1DB, :Llll DA,1+1+}+E=2:>2DB.
2 2 236 2 3 6
1 1 1 1 1 1 2 2 1
e) ——+——+...+ > + +...+ = = ==
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f) Din e),

1+£+1+1+:L

1 1 1 1 1
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9) 1+%+%+_,_+ 1 >1+ 20027[2 =1+2007=2008> 2007.
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